

ON THE DISTRIBUTION OF THE DIFFERENCE OF SOME ARITHMETIC FUNCTIONS

JEAN-MARIE DE KONINCK AND IMRE KÁTAI

ABSTRACT. Let φ stand for the Euler totient function, $\sigma(n)$ for the sum of the positive divisors of n and $\omega(n)$ for the number of distinct prime factors of n . Then, consider the functions $\ell_1(n) := \omega(\sigma(n)) - \omega(\varphi(n))$, $\ell_2(n) := \omega(\sigma(n+1)) - \omega(\sigma(n))$ and $\ell_3(n) := \omega(\varphi(n+1)) - \omega(\varphi(n))$. Here, we study the distribution of the functions $\ell_1(n)$, $\ell_2(n)$ and $\ell_3(n)$, as well as that of various other related functions.

1. INTRODUCTION

In 1940, Paul Erdős and Mark Kac proved [5] what is now known as the Erdős-Kac theorem:

Let $f : \mathbb{N} \rightarrow \mathbb{R}$ be a real valued strongly additive function and set

$$A(x) := \sum_{p \leq x} \frac{f(p)}{p} \quad \text{and} \quad B(x) := \sqrt{\sum_{p \leq x} \frac{f^2(p)}{p}}.$$

Then, given any real number z ,

$$\lim_{x \rightarrow \infty} \frac{1}{x} \#\{n \leq x : f(n) \leq A(x) + zB(x)\} = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^z e^{-t^2/2} dt.$$

Here and in what follows, a *strongly additive function* $f : \mathbb{N} \rightarrow \mathbb{R}$ is an additive function such that $f(p^a) = f(p)$ for all primes p and all integers $a \geq 1$. In particular, setting $f(n) = \omega(n)$, we find that

$$\lim_{x \rightarrow \infty} \frac{1}{x} \#\{n \leq x : \omega(n) \leq \log \log x + z\sqrt{\log \log x}\} = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^z e^{-t^2/2} dt.$$

In a sense, the Erdős-Kac result had shown that the primes behaved like independent random variables.

Generalizations were later obtained, namely the following. Given a real valued strongly additive function f , consider the two expressions

$$A(x) := \sum_{p \leq x} \frac{f(p)}{p} \quad \text{and} \quad B^2(x) := \sum_{p \leq x} \frac{f^2(p)}{p}.$$

We will say that f belongs to the class \mathcal{H} if there exists a function $r(x)$ such that, as $x \rightarrow \infty$,

$$\frac{\log r(x)}{\log x} \rightarrow 0, \quad \frac{B(r(x))}{B(x)} \rightarrow 1, \quad B(x) \rightarrow \infty.$$

Date: Received 12 Jan. 2017. Accepted 12 Apr. 2017.

2010 Mathematics Subject Classification. 11K65.

Key words and phrases. Distribution function, arithmetic functions.

Then, we have the following result, often called the *Kubilius-Shapiro theorem*:

Let $f \in \mathcal{H}$. In order to have

$$\lim_{x \rightarrow \infty} \frac{1}{x} \# \left\{ n \leq x : \frac{f(n) - A(x)}{B(x)} < z \right\} = \Phi(z),$$

where $\Phi(z) := \frac{1}{\sqrt{2\pi}} \int_{-\infty}^z e^{-t^2/2} dt$ stands for the normal distribution function, it

is necessary and sufficient that, for any fixed $\varepsilon > 0$,

$$\lim_{x \rightarrow \infty} \frac{1}{B^2(x)} \sum_{\substack{p \leq x \\ |f(p)| > \varepsilon B(x)}} \frac{f^2(p)}{p} = 0.$$

This is Theorem 12.2 in the book of Elliott [3].

Here, we examine the distribution of some arithmetic functions evaluated at consecutive integers and others related to shifted primes.

More precisely, letting φ stand for the Euler totient function, $\sigma(n)$ for the sum of the positive divisors of n and $\omega(n)$ for the number of distinct prime factors of n , consider the functions $\ell_1(n) := \omega(\sigma(n)) - \omega(\varphi(n))$, $\ell_2(n) := \omega(\sigma(n+1)) - \omega(\sigma(n))$ and $\ell_3(n) := \omega(\varphi(n+1)) - \omega(\varphi(n))$. Here, assuming that the famous *Elliott-Halberstam Conjecture* (EHC) holds (see its statement in Section 3 below), we obtain the distribution function of each of the functions $\ell_1(n)$, $\ell_2(n)$ and $\ell_3(n)$, as well as that of the functions $a(n+1) - a(n)$ and $b(n+1) - b(n)$, where $a(n) := \sum_{p|n} \omega(p+1)$ and $b(n) := \sum_{p|n} \omega(p-1)$.

2. MAIN RESULTS

We let \wp stand for the set of all primes and, from here on, the letters p , q and π , with or without subscript, will always represent prime numbers. Also, by $\log_2 x$ (resp. $\log_3 x$) we mean $\max(2, \log \log x)$ (resp. $\max(2, \log \log_2 x)$).

For each $p \in \wp$, letting

$$(2.1) \quad \Delta(p) := \omega(p+1) - \omega(p-1),$$

we introduce the two sums

$$E_1(x) := \sum_{p \leq x} \Delta(p),$$

$$A(x) := \sum_{p \leq x} \frac{\Delta(p)}{p}.$$

Introducing the strongly additive function $\Delta(n)$ defined on primes p by (2.1), we then have the following result.

Theorem 1. *Assuming that the EHC holds, then*

$$\lim_{x \rightarrow \infty} \frac{1}{x} \# \left\{ n \leq x : \frac{\Delta(n)}{\log_2 x} < z \right\} = \Phi(z).$$

Let $\theta^+(n)$ and $\theta^-(n)$ be the strongly multiplicative functions defined respectively on primes p by

$$\theta^+(p) = p + 1 \quad \text{and} \quad \theta^-(p) = p - 1.$$

Now, for each $n \in \mathbb{N}$, set

$$\rho(n) := \omega(\theta^+(n)) - \omega(\theta^-(n)).$$

Our second result is the following.

Theorem 2. *Assuming that the EHC holds, then*

$$\lim_{x \rightarrow \infty} \frac{1}{x} \# \left\{ n \leq x : \frac{\rho(n)}{\log_2 x} < z \right\} = \Phi(z).$$

We also have the following.

Theorem 3. *Assuming that the EHC holds, then*

$$\lim_{x \rightarrow \infty} \frac{1}{x} \# \left\{ n \leq x : \frac{\ell_1(n)}{\log_2 x} < z \right\} = \Phi(z).$$

Recalling the definitions of the functions $\ell_2(n)$, $\ell_3(n)$, $a(n)$ and $b(n)$ introduced in Section 1, and introducing the additional functions $u(n) := a(n+1) - a(n)$ and $v(n) := b(n+1) - b(n)$, our fourth result is as follows.

Theorem 4. *Unconditionally, we have*

$$\begin{aligned} \text{(i)} \quad & \lim_{x \rightarrow \infty} \frac{1}{x} \# \left\{ n \leq x : \frac{u(n)}{\sqrt{2/3}(\log_2 x)^{3/2}} < z \right\} = \Phi(z), \\ \text{(ii)} \quad & \lim_{x \rightarrow \infty} \frac{1}{x} \# \left\{ n \leq x : \frac{v(n)}{\sqrt{2/3}(\log_2 x)^{3/2}} < z \right\} = \Phi(z), \\ \text{(iii)} \quad & \lim_{x \rightarrow \infty} \frac{1}{x} \# \left\{ n \leq x : \frac{\ell_2(n)}{\sqrt{2/3}(\log_2 x)^{3/2}} < z \right\} = \Phi(z), \\ \text{(iv)} \quad & \lim_{x \rightarrow \infty} \frac{1}{x} \# \left\{ n \leq x : \frac{\ell_3(n)}{\sqrt{2/3}(\log_2 x)^{3/2}} < z \right\} = \Phi(z). \end{aligned}$$

3. PRELIMINARY RESULTS

We let $\text{li}(x) := \int_2^x \frac{dt}{\log t}$, $\pi(x) := \sum_{p \leq x} 1$ and $\pi(x; k, \ell) := \#\{p \leq x : p \equiv \ell \pmod{k}\}$.

In 1968, Elliott and Halberstam [4] stated the following conjecture.

Elliott-Halberstam Conjecture (EHC). *Given arbitrarily small $\varepsilon > 0$ and large $D > 0$, there exists a positive constant C_ε for which*

$$\sum_{k \leq x^{1-\varepsilon}} \max_{(\ell, k)=1} \left| \pi(x; k, \ell) - \frac{\text{li}(x)}{\varphi(k)} \right| < C_\varepsilon \frac{x}{\log^D x} \quad (x \geq 2).$$

Lemma 1. *If the EHC holds, then*

$$A(x) = o(\log_2 x) \quad (x \rightarrow \infty).$$

Proof. Observe that, given an arbitrarily small $\varepsilon > 0$, we have

$$\begin{aligned} E_1(x) &\leq \sum_{q \leq x^{1-\varepsilon}} |\pi(x; q, -1) - \pi(x; q, 1)| \\ &\quad + \sum_{a \leq x^\varepsilon} \#\{q \leq x/a : aq - 1 \text{ is prime}\} + \sum_{a \leq x^\varepsilon} \#\{q \leq x/a : aq + 1 \text{ is prime}\} \\ (3.1) \quad &= S_1(x) + S_2(x) + S_3(x), \end{aligned}$$

say. Assuming the EHC, we have that

$$(3.2) \quad S_1(x) < C_\varepsilon \frac{x}{\log^2 x} \quad (x \geq 2).$$

On the other hand, using Corollary 5.8.2 in the book of Halberstam and Richert [6], we have that, for some absolute constants $c_1 > 0$ and $c_2 > 0$,

$$\begin{aligned} S_2(x) &\leq \sum_{a \leq x^\varepsilon} c_1 \frac{x/a}{\log^2(x/a)} \prod_{\pi|a} \frac{\pi-1}{\pi-2} \leq \frac{c_1 x}{(1-\varepsilon)^2 \log^2 x} \sum_{a \leq x^\varepsilon} \frac{1}{a} \prod_{\pi|a} \frac{\pi-1}{\pi-2} \\ (3.3) \quad &\leq c_2 \varepsilon \frac{x}{\log x}. \end{aligned}$$

Similarly we obtain that, for some absolute constant $c_3 > 0$,

$$(3.4) \quad S_3(x) < c_3 \varepsilon \frac{x}{\log x} \quad (x \geq 2).$$

Gathering estimates (3.2), (3.3) and (3.4) in (3.1), we conclude that

$$(3.5) \quad E_1(x) = o\left(\frac{x}{\log x}\right) \quad (x \rightarrow \infty).$$

On the other hand, it is clear that, in light of (3.5), as $x \rightarrow \infty$,

$$\begin{aligned} A(x) &= \int_2^x \frac{1}{u} dE_1(u) = \frac{E_1(u)}{u} \Big|_2^x + \int_2^x \frac{E_1(u)}{u^2} du \\ &= O(1) + \int_2^x \frac{o(1)}{u \log u} du = o(\log_2 x), \end{aligned}$$

thereby completing the proof of Lemma 1. □

Let us now introduce the two functions

$$E_2(x) := \sum_{p \leq x} \Delta^2(p) \quad \text{and} \quad B^2(x) := \sum_{p \leq x} \frac{\Delta^2(p)}{p}.$$

Lemma 2. *As $x \rightarrow \infty$,*

$$(3.6) \quad B^2(x) = (\log_2 x)^2 + O(\log_2 x).$$

Proof. We start by estimating the size of $E_2(x)$. Let $y = x^{1/5}$ and set

$$\omega_y(n) := \sum_{\substack{q|n \\ q < y}} 1, \quad \Delta_y(p) := \omega_y(p+1) - \omega_y(p-1) \quad \text{and} \quad R_y := \sum_{q < y} \frac{1}{q-1}.$$

By the Bombieri-Vinogradov theorem, we have

$$\begin{aligned}
(3.7) \quad T(x) &:= \sum_{p \leq x} \Delta_y^2(p) = \sum_{p \leq x} \omega_y^2(p+1) + \sum_{p \leq x} \omega_y^2(p-1) - 2 \sum_{p \leq x} \omega_y(p+1) \omega_y(p-1) \\
&= \sum_{\substack{q_1, q_2 \leq y \\ q_1 \neq q_2}} (\pi(x; q_1 q_2, -1) + \pi(x; q_1 q_2, 1)) - 2 \sum_{\substack{q_1, q_2 \leq y \\ q_1 \neq q_2}} \sum_{\substack{p \leq x \\ q_1 | p+1, q_2 | p-1}} 1 \\
&\quad + \sum_{p \leq x} (\omega_y(p+1) + \omega_y(p-1)) + O(\text{li}(x)) \\
(3.8) \quad &= 2 \text{li}(x)(R_y^2 + O(1)) - 2 \text{li}(x)(R_y^2 + O(1)) + 2 \text{li}(x) R_y + O\left(\frac{x}{\log^D x}\right) \\
&= 2 \text{li}(x) R_y + O(\text{li}(x)),
\end{aligned}$$

where we used the fact that if q divides both $p-1$ and $p+1$, then $q=2$, therefore implying that the contribution of these terms to the sum in line (3.7) is $O(\text{li}(x))$.

Since $y = x^{1/5}$, it is clear that $R_y = \log_2 x + O(1)$, in which case we get from (3.8) that

$$(3.9) \quad T(x) = 2 \text{li}(x) \log_2 x + O(\text{li}(x)).$$

Now, observe that

$$(3.10) \quad |(a+b)^2 - a^2| \leq b^2 + 2|ab| \quad \text{for all real numbers } a, b,$$

while, because of our choice of y , we also have that $|\Delta(p) - \Delta_y(p)| \leq 4$ for every prime p . Therefore, choosing $a = \Delta_y(p)$ and $b = \Delta(p) - \Delta_y(p)$, it follows from (3.10) that

$$(3.11) \quad \sum_{p \leq x} |\Delta^2(p) - \Delta_y^2(p)| \leq 25 \pi(x) + 10 \sum_{p \leq x} |\Delta_y(p)|.$$

Using the Cauchy-Schwarz inequality and estimate (3.9), we have that, for some absolute constant $c_4 > 0$,

$$\begin{aligned}
(3.12) \quad \sum_{p \leq x} |\Delta_y(p)| &\leq \left(\sum_{p \leq x} 1 \right)^{1/2} \left(\sum_{p \leq x} \Delta_y^2(p) \right)^{1/2} \\
&\leq c_4 (\text{li}(x))^{1/2} (\text{li}(x) \log_2 x)^{1/2} \\
&= c_4 \text{li}(x) \sqrt{\log_2 x}.
\end{aligned}$$

Combining (3.9), (3.11) and (3.12) proves that

$$(3.13) \quad E_2(x) = 2 \text{li}(x) \log_2 x + O(\text{li}(x)).$$

Estimate (3.6) then follows immediately from (3.13) by partial summation, and Lemma 2 is proved. \square

4. PROOFS OF THEOREMS 1 AND 2

Theorem 1 is an immediate consequence of Lemmas 1, 2 and of the Kubilius-Shapiro theorem stated in the Introduction, although it remains to establish that the last condition of the Kubilius-Shapiro theorem is satisfied.

For this, we need to prove that, for every $\varepsilon > 0$,

$$(4.1) \quad G(x) := \frac{1}{B^2(x)} \sum_{\substack{p \leq x \\ |\Delta(p)| \geq \varepsilon B(x)}} \frac{\Delta^2(p)}{p} \rightarrow 0 \quad (x \rightarrow \infty).$$

First observe that

$$(4.2) \quad |\Delta(p)| = |\omega(p+1) - \omega(p-1)| \leq |\omega(p+1) - \log \log p| + |\omega(p-1) - \log \log p|.$$

On the other hand, it is well known that

$$\sum_{p \leq x} |\omega(p+1) - \log \log p|^4 \ll (\log_2 x)^2 \pi(x),$$

which implies that

$$(4.3) \quad \sum_{p \leq x} \frac{|\omega(p+1) - \log \log p|^4}{p} \ll (\log_2 x)^3.$$

Similarly, we obtain that

$$(4.4) \quad \sum_{p \leq x} \frac{|\omega(p-1) - \log \log p|^4}{p} \ll (\log_2 x)^3.$$

Finally, observe that it is obvious that, given any $\varepsilon > 0$,

$$(4.5) \quad G(x) \leq \frac{1}{B^2(x)} \sum_{p \leq x} \frac{\Delta^2(p)}{p} \cdot \left(\frac{\Delta(p)}{\varepsilon B(x)} \right)^2.$$

Hence, using (4.5), (4.2), (4.3), (4.4) and Lemma 2, we obtain that, for some positive constant c ,

$$\begin{aligned} G(x) &\leq \frac{1}{\varepsilon^2 \log_2^4 x} \sum_{p \leq x} \frac{\Delta^4(p)}{p} \\ &\leq \frac{c}{\varepsilon^2 \log_2^4 x} \left(\sum_{p \leq x} \frac{|\omega(p+1) - \log \log p|^4}{p} + \sum_{p \leq x} \frac{|\omega(p-1) - \log \log p|^4}{p} \right) \\ &\leq \frac{2c}{\varepsilon^2 \log_2^4 x} \frac{\log_2^3 x}{\log_2^4 x} \end{aligned}$$

a quantity which tends to 0 as $x \rightarrow \infty$. We have thus established (4.1) as requested.

In order to prove Theorem 2, we first observe that

$$\omega(\theta^+(n)) \leq \sum_{p|n} \omega(p+1),$$

while

$$\omega(\theta^+(n)) \geq \sum_{\substack{p|n \\ p \geq \log_2 x}} \omega(p+1) - \sum_{q > \log_2 x} \sum_{\substack{p_1 p_2 | n \\ p_1 + 1 \equiv 0 \pmod{q} \\ p_2 + 1 \equiv 0 \pmod{q} \\ p_1 \neq p_2}} 1,$$

and that

$$\omega(\theta^-(n)) \leq \sum_{p|n} \omega(p-1),$$

while

$$\omega(\theta^-(n)) \geq \sum_{\substack{p|n \\ p \geq \log_2 x}} \omega(p-1) - \sum_{q > \log_2 x} \sum_{\substack{p_1 p_2 | n \\ p_1 - 1 \equiv 0 \pmod{q} \\ p_2 - 1 \equiv 0 \pmod{q} \\ p_1 \neq p_2}} 1.$$

It follows from these observations that

$$\begin{aligned} \frac{1}{x} \sum_{n \leq x} |\rho(n) - \Delta(n)| &\leq \frac{1}{x} \sum_{n \leq x} \sum_{\substack{p|n \\ p \leq \log_2 x}} |\Delta(p)| + \sum_{q > \log_2 x} \sum_{\substack{q|p_1+1 \\ q|p_2+1}} \frac{1}{p_1 p_2} + \sum_{q > \log_2 x} \sum_{\substack{q|p_1-1 \\ q|p_2-1}} \frac{1}{p_1 p_2} \\ (4.6) \qquad \qquad \qquad &= H_1(x) + H_2(x) + H_3(x), \end{aligned}$$

say. On the one hand, we have that for some absolute constant $c_5 > 0$,

$$\begin{aligned} H_1(x) &\leq \sum_{p \leq \log \log x} \frac{|\Delta(p)|}{p} \\ &\leq \sum_{p \leq \log \log x} \frac{1}{p} (|\omega(p+1) - \log \log p| + |\omega(p-1) - \log \log p|) \\ (4.7) \qquad \qquad \qquad &\leq c_5 (\log_4 x)^{3/2}, \end{aligned}$$

where for this last inequality, we used the known estimate

$$\sum_{p \leq U} |\omega(p+1) - \log \log p| \ll \frac{U}{\log U} \sqrt{\log_2 U} \quad (U \rightarrow \infty).$$

According to Lemma 6 in Kátai [7], there exists an absolute constant $c > 0$ such that

$$\sum_{\substack{k \leq p \leq x \\ p \equiv \ell \pmod{k}}} \frac{1}{p} < c \frac{\log_2 x}{\varphi(k)}.$$

We will use this result in the special cases $\ell = -1$ and $\ell = 1$. In particular, we easily obtain that, for some absolute constants $c_6 > 0$ and $c_7 > 0$,

$$\begin{aligned} H_2(x) &\leq \sum_{q > \log_2 x} \sum_{\substack{p_1, p_2 \leq x \\ q|p_1+1 \\ q|p_2+1}} \frac{1}{p_1 p_2} \leq c_6 (\log_2 x)^2 \sum_{q > \log_2 x} \frac{1}{q^2} \\ (4.8) \qquad \qquad \qquad &\leq c_7 (\log_2 x)^2 \frac{1}{\log_2 x \log_3 x} = c_7 \frac{\log_2 x}{\log_3 x}. \end{aligned}$$

Similarly, we obtain

$$(4.9) \qquad \qquad \qquad H_3(x) \leq c_8 \frac{\log_2 x}{\log_3 x}.$$

Combining (4.6), (4.7), (4.8) and (4.9), we obtain that

$$\rho(n) = \Delta(n) + A_n,$$

where

$$\frac{1}{x} \sum_{n \leq x} |A_n| \ll \frac{\log_2 x}{\log_3 x}.$$

From this it follows that Theorem 2 is an immediate consequence of Theorem 1.

5. PROOF OF THEOREM 3

Any positive integer n can be written as $n = Km$, where $K = K(n)$ is squarefull and $m = m(n)$ is squarefree, with $(K, m) = 1$. Doing so, we clearly have

$$(5.1) \quad 0 \leq \omega(\varphi(n)) - \omega(\varphi(m)) \leq \omega(\varphi(K)),$$

$$(5.2) \quad 0 \leq \omega(\sigma(n)) - \omega(\sigma(m)) \leq \omega(\sigma(K))$$

as well as

$$(5.3) \quad \omega(\varphi(m)) = \omega(\theta^-(m)), \quad \omega(\sigma(m)) = \omega(\theta^+(m)).$$

On the other hand, given any function $s(x)$ which tends to ∞ arbitrarily slowly as $x \rightarrow \infty$, we have

$$\frac{1}{x} \#\{n \leq x : K(n) > s(x)\} \rightarrow 0 \quad \text{as } x \rightarrow \infty.$$

This is immediate because, letting μ stand for the Möbius function, we have

$$\frac{1}{x} \sum_{\substack{Km \leq x \\ (m, K)=1, K > s(x)}} \mu^2(m) = \frac{1}{x} \sum_{\substack{K \leq x \\ K > s(x)}} \sum_{\substack{m \leq \frac{x}{K} \\ (m, K)=1}} \mu^2(m) \leq \sum_{\substack{K \leq x \\ K > s(x)}} \frac{1}{K} \ll \frac{1}{\sqrt{s(x)}}.$$

This is why we may assume that $K(n) \leq s(x)$, in which case, in light of (5.1), (5.2) and (5.3), we have that $\rho(n) = \rho(m) + O(s(x))$ and $\ell_1(n) = \ell_1(m) + O(s(x))$. Therefore, with $n = Km$ and $K \leq s(x)$,

$$\begin{aligned} \rho(n) &= \rho(m) + O(s(x)) = \omega(\theta^+(m)) - \omega(\theta^-(m)) + O(s(x)) \\ &= \omega(\sigma(m)) - \omega(\varphi(m)) + O(s(x)) = \ell_1(m) + O(s(x)) \\ &= \ell_1(n) + O(s(x)). \end{aligned}$$

From this and by choosing $s(x) = \log_3 x$, we obtain that

$$\ell_1(n) = \rho(n) + O(\log_3 x).$$

From this observation, Theorem 3 follows immediately from Theorem 2.

6. PROOF OF THEOREM 4

We begin by proving part (i). We will use the “method of moments” provided in the book of Billingsley [1].

For $n \leq x$, we have $a(n+1) - a(n) = \sum_{p \leq x} X_p(n) \omega(p+1)$, where $X_p(n) = \mathbf{1}_{p|n} - \mathbf{1}_{p|n+1}$. Now, observe that

$$\sum_{n \leq x} \left| \sum_{y < p \leq x} X_p(n) \omega(p+1) \right| \ll (\log \log x) \log(\log x / \log y).$$

Choosing $y = x^{1/\log \log x}$ in the above implies that for almost all n , the sum $\sum_{y < p \leq x} X_p(n) \omega(p+1)$ is smaller than the variance, so that it suffices to work only with the primes $p \leq y$.

Given p , the random variable X_p takes the values 1, -1 and 0 with approximate probabilities $1/p$, $1/p$ and $1 - 2/p$, respectively. Moreover, for different p_1 and p_2 , the random variables X_{p_1} and X_{p_2} are approximately independent. Now, define truly independent random variables Y_p , for p prime, such that $Y_p = 1$ with probability $1/p$, $Y_p = -1$ with probability $1/p$, and $Y_p = 0$ with probability $1 - 2/p$. Clearly, $\mathbb{E}[Y_p] = 0$ and $\text{Var}[Y_p] = 2/p$. Hence,

$$\text{Var} \left[\sum_{p \leq x} Y_p \omega(p+1) \right] \sim \frac{2}{3} (\log \log x)^3 \quad (x \rightarrow \infty)$$

and it is easy to see that $\sum_{p \leq x} Y_p \omega(p+1) / \sqrt{2/3} (\log \log x)^{3/2}$ tends to the standard normal distribution by the Central Limit Theorem. Therefore, to complete the proof of Theorem 4(i), it suffices to show that

(6.1)

$$\mathbb{E}_{n \leq x} \left[\left(\sum_{p \leq y} X_p(n) \omega(p+1) \right)^k \right] - \mathbb{E} \left[\left(\sum_{p \leq y} Y_p \omega(p+1) \right)^k \right] = o((\log \log x)^{3k/2}) \quad (x \rightarrow \infty).$$

Expanding the k -th powers, we obtain that

$$\begin{aligned} & \mathbb{E}_{n \leq x} \left[\left(\sum_{p \leq y} X_p(n) \omega(p+1) \right)^k \right] - \mathbb{E} \left[\left(\sum_{p \leq y} Y_p \omega(p+1) \right)^k \right] \\ &= \sum_{p_1, \dots, p_k \leq y} \omega(p_1+1) \cdots \omega(p_k+1) (\mathbb{E}_{n \leq x} [X_{p_1}(n) \cdots X_{p_k}(n)] - \mathbb{E}[Y_{p_1} \cdots Y_{p_k}]). \end{aligned}$$

Since the above innermost difference is $O_k(1/x)$ by the Chinese Remainder Theorem, we may conclude that (6.1) follows, thereby concluding the proof of Theorem 4(i).

It remains to prove statements (ii), (iii) and (iv) of Theorem 4. First of all, the proof of (ii) can be treated similarly as that of (i), and we shall therefore omit it. On the other hand, one can deduce (iv) from (ii) and (iii) from (i) by simply observing that, given any $\varepsilon > 0$,

$$\frac{1}{x} \# \left\{ n \leq x : \left| \frac{\omega(\sigma(n)) - a(n)}{x^{3/2}} \right| > \varepsilon \right\} \rightarrow 0 \quad (x \rightarrow \infty)$$

and

$$\frac{1}{x} \# \left\{ n \leq x : \left| \frac{\omega(\varphi(n)) - b(n)}{x^{3/2}} \right| > \varepsilon \right\} \rightarrow 0 \quad (x \rightarrow \infty).$$

ACKNOWLEDGMENTS. The authors would like to thank the referee for various helpful comments and corrections and also for suggesting a much simpler proof of Theorem 4. The research of the first author was supported in part by a grant from NSERC.

REFERENCES

- [1] P. Billingsley, *Probability and Measure*, Third edition. Wiley Series in Probability and Mathematical Statistics. A Wiley-Interscience Publication. John Wiley & Sons, Inc., New York, 1995. xiv+593 pp.
- [2] J.M. De Koninck and F. Luca, *Analytic Number Theory: Exploring the Anatomy of Integers*, Graduate Studies in Mathematics, Vol. 134, American Mathematical Society, Providence, Rhode Island, 2012.

- [3] P.D.T.A. Elliott, *Probabilistic Number Theory II*, Central limit theorems, Fundamental Principles of Mathematical Sciences, 240. Springer-Verlag, Berlin-New York (1980).
- [4] P.D.T.A. Elliott and H. Halberstam, *A conjecture in prime number theory*, Symposia Mathematica, Vol. IV (INDAM, Rome, 1968/69). London: Academic Press. pp. 59–72.
- [5] P. Erdős and M. Kac, *The Gaussian law of errors in the theory of additive number-theoretic functions*, Amer. Journ. Math. **62** (1940), 738–742.
- [6] H.H. Halberstam and H.E. Richert, *Sieve Methods*, Academic Press, London, 1974.
- [7] I. Kátai, *On the number of prime factors of $\varphi(\varphi(n))$* , Acta. Math. Hung. **58** (1991), 211-225.

DÉP. DE MATHÉMATIQUES ET DE STATISTIQUE, UNIVERSITÉ LAVAL, QUÉBEC, QUÉBEC G1V 0A6, CANADA
E-mail address: `jmdk@mat.ulaval.ca`

COMPUTER ALGEBRA DEPARTMENT, EÖTVÖS LORÁND UNIVERSITY, 1117 BUDAPEST, PÁZMÁNY PÉTER
SÉTÁNY I/C
E-mail address: `katai@inf.elte.hu`